Phép trir s6 thap phan (2 chir so)

Tén:

8.5
-9.74

7.94
—-5.28

7.44
—-2.51

6.59
-7.99

8.93
—-5.48

T4 & i

2.79
—2.31

6.38
—7.04

9.45
—-4.57

1.03
—2.91

9.26
-2.5

8.23
—-2.79

3.91
—-8.23

6.93
—-8.85

1.94
-7.09

Ngay thang: piém: ____
9.41 5.2
-0.67 =-2.27

7.9 3.74
-7.35 -2.23
9.46 7.65
-6.64 -8.97
5.02 3.13
-9.54 -5.42
8.16 9.73
-3.59 -8.17
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Phép trir s6 thap phan (2 chir so)

Tén:

8.5

-9.74

-1,24

7.94
—-5.28

2,66

7.44
—-2.51

4,93

6.59
-7.99

-1,4

8.93
—-5.48

3,45

hiT 4 & i

2.79
—2.31
0,48

1.01
-3,49

6.38
—7.04
-0, 66

9.45
-4.57
4,88

1.03
—-2.91
-1, 88
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9.26
—-2.5
6, 76

8.23
-2.79
5, 44

3.91
—-8.23
-4, 32

6.93
—8.85
-1,92

1.94
-7.09
-5,15

Ngay thang:

9.41
—6.67/
2,74

7.9
—/.35
0,55

9.46
—6.64
2,82

5.02
—9.54
—4,52

3.16
—-3.59
4,57

Piém:

5.2
—2.27
2,93

3.74
—-2.23
1,51

7.65
—-38.97
-1, 32

3.13
—-5.42
2,71

9.73
—-8.17
1,56
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